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@ 4a® - 2ab = 2a(a - b)

@ x% +20x—100 = (x+ 10)?
® —x*+1=(x+1)(-x-1)

@ x?-Tx+12=(x-2)(x-6)

® 10x? +23x-21 = (x+ 3)(10x - 7)
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® -4 @ -2 @0 @ 2 ® 4



T 2 4 [ - 60] (x+ a)(x + b) B A5-Ref= o, g0 Fure
B40) ) (& a, b H50]T a > b)

@® 2 7H @ 3 7\ ® 47 @ 571 ® 671
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® x-1

@ 2x+1

® x+1

® 2x-1

@ x-5






8. 2x%-8xy? & As-ESfoH?

@O x(x+2y)(x—2y) @ 2x(x+2y)(x—2y)
® 2(x+ 2y)(x-2y) @ 2x(x+2y)(x-y)

® 2x(x+y)(x—2y)






10. (x+y+4)(x—y+4)-16x & H=Z2A A2l A2

@ (x-y+4) @ (x+y-4)?
@ (x-y-2)(x+y+8) @ (x+y-4)(x-y-4)

® (—x—y+4)(x—y+4)
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© 2 @4 ® 6 @ 11 ® 16
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D 11 @ 18 ® 22 @ 27 ® 30
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@ x®+x-1 ® x>-2x-1

DO x-x+1

® x*-x+9

@ x>-x+3
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PH+3x-1=04 o, —x* +7x%2-12x+5 9 727
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